4.5 Model With Algebra (Day 2)

Do It Now!

Write an equation for each phrase:

a) triple a number is 18 3’[ = ’ g
b) 7 more than a number is 11 x+7 = ( ‘

. X _
¢) half a number is 10 Q= I o)
d) double a number, less 3 is 7 le—g -]
e) 5 less than one third a number is 1 ‘7-% -5 l

f) 2 more than triple a number is 14 37( +d = IL{




Part 2: Word Problems

When solving word problems,

define the unknowns.

write an equation to model the situation.
solve the equation.

answer the question asked in the problem.

1) The length of a rectangle is triple its width. The
perimeter of the rectangle is 40 cm. What are the
length and width?

Lenath = 3% P= A(Lerah) + o (wiokth)
Widkh = X 40 = A(3%) +a (%)
Y0 = 6x+ax
4o = <
2 %
x=5
Lengin = 3¢ = [5¢m

V\J'\ :9( = 5(_yv\



2) Three consecutive integers have a sum of 75.
What are the three integers?

. =X
L A ineR¥ T+(xx\)e(242) = 75
L7 idkeges= X+

1 +xA2 =7
2% inege = K+ K >

%3 =715
3 =75-3
Be=7a
Z 3
2 =Y

I inkep =X =Y

L inegers X4 =35

2™ inege = x+o. = b

3) Three consecutive even integers have a sum of
102. What are the three integers?

st _
1M{\R\%0’ = 5;“ dz +(Axtd) +@xrY) = (09
. = Ix+A
& (A'W y do+dptd + ety = (0
3 l’ﬂ'eazf:2«+ Gx+6 =106,

tx=0a-6
<%
g 6
X =10

I e = M= 3%
xd{&qgrzaﬂ+av:3q
3-'0\ ;W:Z«H =35



4) Katherine is 2 years older than Christine. The sum of
their ages is 16. How old is each girl?

Kethorine = x+Q X+ () = 16
Cwristing = X 1ed = b
doc v =16
ax =6- A
Ao =Y
FEF
="

Kethoing = X+ =9 Wors o\d
Cnsistig = X = T gas o



